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Estimating Angle

Name:

Solve each problem.

1)

Which choice best
represents LIABC?

A. 65°
B.9°
C. 139°
D. 95°

4) M

K
Which choice best
represents LIKLM?
A. 166°

B. 75°

C.15°

D. 39°

7)
M

N

Which choice best
represents UKLM?

A.178°
B. 61°
C. 136°
D. 35°

2)

5)

8)

3)
A
\B C K

Which choice best
represents LIABC?

A. 101°
B. 134°
C.52°
D.0°

K

Which choice best
represents LIKLM?

A.22°
B. 55°
C.1°
D. 108°

K
Which choice best
represents UKLM?
A. 154°

B. 133°

C. 49

D. 112°

6)

9)

Which choice best
represents LIKLM?

A. 154°
B.5°
C. 90°
D. 175°

™

Which choice best
represents LIKLM?

A. 145°
B.9°

C. 166°
D. 100°

K L M

<& >

Answers

Which choice best
represents UKLM?

A. 107°
B.7°

C. 143
D. 180°
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Estimating Angle Name: Answer Key
Solve each problem. Answers
1) 2) 3)
A 1. A
c \B c K 2 B
Which choice best Which choice best Which choice best
represents LIABC? represents LIABC? represents LIKLM? 3 C
A. 65° A. 101° A. 154°
B.9° B. 134° B.5° 4 B
C. 139° C.52° C. 90°
D.95° D.0° D. 175° 5 D
6. C
7 D
4) M 5) 6)
8. C
K K K L_—
Which choice best Which choice best Which choice best 9. D
represents LIKLM? represents LIKLM? represents LIKLM?
A. 166° A.22° A. 145°
B. 75° B. 55° B.9°
C.15° C.r° C. 166°
D. 39° D. 108° D. 100°
7) 8) 9
M
M
K L K K L M
Which choice best Which choice best Which choice best
represents UKLM? represents UKLM? represents UKLM?
A. 178° A. 154° A. 107°
B. 61° B. 133° B.7°
C. 136° C. 49° C. 143°
D. 35° D. 112° D. 180°

[ M ath ] www.CommonCoreSheets.com

1-9 |89]|78]67[56]44[33[22[11] 0 |




	Worksheet
	Answer Key

